B RESR
AVFYORT ST~ KILK

AVFY R R - RAXT—H
EH 22120.

SmER A
AVFYORTSUI T —lE, AVFY I RABOREBVET

nE rEhva
ik FARRAY A HT— (EH22120.) > T
. KIS, B EEOMNBEEEXDENTEET,
o AT L A#1.4305 ( SUS303# Y
7Y LA ( Y ) —
avy- e
« A7 1—)L. BEAD Ui
« A7 L A 1.4305 ( SUS303#E ) . SRR
ZYTLXYF Ovs- +v NGBS TY,
J7 ZOBORS

" PAG. R (DPEL) - BETOY 2, AYFYVIRELN, A

FYIRTZ0ov—H, FA4F¥ v AN
s AT —FAVITVI 2, A VFYIRKIL

~A
s TARRVA AS— AVFYIARILE
A
ER
P A
o d
T
e ' e ) @
= (1 S 1 i
= T
m : ‘ U IN®
~ = AyZ- Fyh )
J 22120.0115-0120 (AT 1 =)
Ol 1 22120.0515-.0520 ( A7 LR )
T d,
B 1 K2
EEHR
& —EiE NzEH" @ i
d1 dz d3 d4 |1 |2 |3 |4 |5 |5 F1 Fz min. max.
-0,02 # min. min. # #
-0,05
[mm] [mm] [N] [°C] [g]
J 71 - K1, REIE
5 M10 x 1 21 - 45,0 5 17 5 - 15 12 6,0 14 -30 80 19 | 22120.0005
M12x 1,5 25 - 54,5 6 20 6 - 17 14 6,5 19 -30 80 29 | 22120.0006
8 M16 x 1,5 31 - 69,0 8 26 8 - 23 19 11,5 28 -30 80 71 | 22120.0008
10 M20 x 1,5 31 - 80,0 10 33 10 - 30 22 23,0 54 -30 80 119 | 22120.0010
/7L - K 2, REIHE
5 M10 x 1 - M5 - 5 17 5 6 15 12 6,0 14 - 250 14 | 22120.0025
6 M12x 1,5 - M6 - 6 20 6 10 17 14 6,5 19 - 250 23 | 22120.0026
8 M16 x 1,5 - M8 - 8 26 8 12 23 19 11,5 28 - 250 54 | 22120.0028
10 M20 x 1,5 - M8 - 10 33 10 12 30 22 23,0 54 - 250 97 | 22120.0030
JTR -1, ATV LA
5 M10 x 1 21 - 45,0 5 17 5 - 15 12 6,0 14 -30 80 19 | 22120.0405
6 M12x 1,5 25 - 54,5 6 20 6 - 17 14 6,5 19 -30 80 29 | 22120.0406
8 M16 x 1,5 31 - 69,0 8 26 8 - 23 19 11,5 28 -30 80 71 | 22120.0408
10 M20 x 1,5 31 - 80,0 10 33 10 - 30 22 23,0 54 -30 80 119 | 22120.0410
Va9
ENHALDER HE1H52

hi: 28.9.2024


http://halder.com/jp/22120.0005
http://halder.com/jp/22120.0006
http://halder.com/jp/22120.0008
http://halder.com/jp/22120.0010
http://halder.com/jp/22120.0025
http://halder.com/jp/22120.0026
http://halder.com/jp/22120.0028
http://halder.com/jp/22120.0030
http://halder.com/jp/22120.0405
http://halder.com/jp/22120.0406
http://halder.com/jp/22120.0408
http://halder.com/jp/22120.0410

v ARk m
ATV IORTZ Ty —/ Rk

i S I E R i " neEs

dy d, ds | d, I R Iy le Is R F F, min. | max.
-0,02 0 min. min. 0 #
-0,05
[mm] [mm] [N] [°C] [g]

J7BL-F2, ATV LAHE
5 M10 x 1 - | M5 - 5 | 17 5 6 | 15 | 12 6,0 14 - 250 14 | 22120.0425
M12x 1,5 - | s - 6 | 20 6 | 10 | 17 | 14 6,5 19 - 250 23 | 22120.0426
8 M16x 1,5 - | wms - 8 | 26 8 | 12 | 23 | 19 11,5 28 - 250 54 | 22120.0428
10 M20 x 1,5 - | wms - 10 | 33 | 10 | 12 | 30 | 22 23,0 54 - 250 97 | 22120.0430
) a0 T8
7oty —
& L>FH4 X i
d;
[mm] [mm] [a]
Ov 44 v NS08675 (DIN 439), §
M10 x 1 16 52 22120.0115
M12 x 1,5 18 75 22120.0116
M16 x 1,5 24 15,0 22120.0118
M20 x 1,5 30 32,0 22120.0120

Oy 24 v BIS08675 (DIN 439), A 7> L A

M10 x 1 16 52 22120.0515
@ M12x 1,5 18 75 22120.0516

24 15,0 22120.0518

M16 x 1,5
\‘ M20 x 1,5 30 32,0 22120.0520

ISR

UlFJ
777 777 /77 7]

ESQVTIATUA

FHOETERICOVTE, BNORGEESEZBERL TILEEL,

"H2A52
EE HALDER hi: 28.9.2024


http://halder.com/jp/22120.0425
http://halder.com/jp/22120.0426
http://halder.com/jp/22120.0428
http://halder.com/jp/22120.0430
http://halder.com/jp/22120.0115
http://halder.com/jp/22120.0116
http://halder.com/jp/22120.0118
http://halder.com/jp/22120.0120
http://halder.com/jp/22120.0515
http://halder.com/jp/22120.0516
http://halder.com/jp/22120.0518
http://halder.com/jp/22120.0520

